الواجب الثالث مبادىء الرياضيات (1)
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1-  قيمة المحدد                       هى  هذا يمكن خطأ    


( أ )    -65
( ب)   -56
( جـ )  -47
( د )   - 74

2-   المتوالية   128 ، 64 ، 32 ، ....   مجموعها إلى ما لانهاية هو
( أ )       189
( ب )      256  صح 
( جـ )      512
( د )        1024
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قيمة المقدار    ك  ط     هى
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4- تحليل المقدار  64 – س3   هو
( أ )       ( 2 – س ) ( 4 + 2 س + س2 )
[bookmark: _GoBack]( ب )      (4 – س ) ( 16 + 4 س + س2) صح 
( جـ )      (2 + س ) ( 4 - 2 س + س2) 
( د )        (4 + س ) ( 16 - 4 س + س2)
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